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L * j
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In this case: j=2, i=1
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Approaches to Increase CapacityApproaches to Increase Capacity
• Adding new channel – any available channels can be added 
• Frequency borrowing – frequencies are borrowed from adjacent cells by 

congested cells (or assign frequencies to cells dynamically)
• Cell splitting – cells in areas of high usage are split into smaller ones
• Cell sectoring – cells are divided into a number of wedge-shaped sectors, each 

with their own set of channels
• Microcells – decrease the cell size by moving antennas lower places (e.g. lamp 

posts)
– useful in congested streets, inside public buildings, etc.


